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2013 54,000 1,200

2014 60,000 3,000
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ENGLISH VERSION

{a) Write about the sources of business ideas.
(b) What 1s the selection procedure of best ideas ?
OR

Discuss suggestions belpful in scouting for project ideas.

Describe the matters considered in market and demand

survey.
OR

(a) Explain meaning and importance of market and

demand analysis.

() Write a note on demand forcasting,

Explain the factors affecting selection of location in detail.
OR

Write a differences between product layout and process

layout.

What is capital investment ? Explain its objectives and

types.

OR

() Heena company and Meena company are in the same

risk. Heena company is an unlevered Whiler Meena
company has 10% debenture of Rs. §8,00,000. The value

of companies according to Net Income approach is as

follows
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Particulars Heena Meena

Co. Ltd. | Co. Ltd.
Net operating income 2.40,000 2,40,000
— Interest on debenture 80,000
Net Income 2,40,000 1,60,000
Rate of equity capitalisaf_ion' ‘ 15% 16%
Value of equity capital 16,00,000 10,00,000
Value of Debenture - 8.,00,000
Value of Company_ 16,00,000 | 18,00,000

)
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An investor holds 10% equity shares of Meena company
Ltd. How can be reduce his investment by engaging in

personal leverage ?

Two companies Rohan Ltd. and Mohan Ltd. belong to
the homogeneous risk class. Both are identical in all
respects except that Rohan T.td. is a levered company
while Mohan Ltd. is an unlevered company. In the
levered company's capital structure, there are 10%
debentures of Rs. 3,00,000 total assets of both companiés
are worth Rs. 10,00,000. Both company earn 15% return
on their total assets. Before interest and taxes. Assuming
that capital market is perfect. Investors behave rationally
tax rate 50% and rate of equity capitalization is 15%.
Calculate the following :

m

Value of both companies by using net income

approach.

Value of both companies by using net operating

@)

income approach.
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(a) The following information of a company for the last 8
two years results :

Year Sales (Rs.) | Profit (Rs.)

2013
2014

54,000 1,200
60,000 3,000

-~ -Calculate .the‘f(jllowing :
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(1) P/V ratio
_(2) Fixed expenses
| (3) Breakeven point
(4) Margin of safety.
. (b X Co. manufacturing a single article sells it at Rs. 10 12
' P.U. The variable cost is Rs. 6 p.u. and fixed cost is Rs. '
4000 p.a. calculate :
(1) P/V ratio
(2) Breakeven sales
(3) Margin of safety if total sales are Rs. 15,000
(4) Sales required to earn a profit of Rs. 5,000
(5) Profit when sales is Rs. 15,000.
OR
Prepare cash flow statement from the above balance - 20
sheets of Chetan Lid. (As per AS-3)
Liabilities 2013. 2014 | Assets 2013 2014
(Rs.) (Rs.) (Rs.) (Rs.)
Equity = Goodwill ~ |1,15,000 | 90,000
share capital | 3,00,000| 4,00,000 | Land- | _ BEE
8% RPS Building |2,00,000|1,70,000
 capital | 1,50,000| 1,000,000 | Machinery | 80,000 | 2,00,000
General Debtors | 1,60,000 | 2,00,000
Reserve | 40,000 70,000 | Stock 77,000 | 1,09,000
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P&L
Account
Proposed
dividend
Creditors
Bills
payable
Provision

for taxation

30,000 | 48,000
42,000 50,000
55,000 | 83,000
20,000 16,000
40,000 | 50,000
6,77,000 | 8,17,000

Bills
receivable
Cash on
hand
Bank
balance

20,0600 ! 30,000
15,000 | 10,000
10,000 8,000
6,77,000 | 8,17,000

Additional Information :

(1)

on machineries and 20,000 on land-buildings.

)

Rs. 20,000

6))
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Taxation paid during the year was Rs. 35,000.

During the yeér depreciation charged was Rs. 10,000

Interim dividend paid during the year amounted to

{300 ]



